G X 2018—2019 Z24F i 5 — S MR 2 a5 4G X 4
SR Py bRt

CERE Y 2019. 1. 16
—. EEE (KK 10 /ME, SB35, 300
me | 1 2 3 4 5 6 7 8 9 10
%% | B C B D C A C A D B

—. BHEE (AXE8 /MR, §/IE2 5, L1645
11. x=-58x+5=082x=-10 (BEZEAHE—)
1

12. 7 3
13.75

14.12° 14" 247
15.4

16. A1 PR EELEBOR /DN, HEHE R IR S 1 /N s S 437 9 AT

17. W2 A B il s BLZRAb— i S HE F & UM A 8B, |ER
R

18. G,=(6, 8, 13); Gy =(9 8, 10)

FE: 128, 16 @R 18 Ml —gps B 1T AN A 1

=\ BEE (KRB 11 /R, Hsg 19-20 BE/NNE 4 7, 5 21-28 &b
FE545r, $29fE 64y, 3540 MENFHXFRY. HESREGEHTE.
19. fift: 9—(—D+ (=8)+7

=9+4—8+7 2 4y
=20-8 3¢
=12 45y

20 Mt -2+ 518
3 6 2
=2 (18— 2 (—18)+ L (—18)
3 6 >

=-12+15-9 347




=—6 4 5y

21. fi#: —§x<—32xl—2>+6
5 3

=—§X(—9Xl—2)><1— ....................... 2 ﬁj\
5 3 6
3 1
= ——X —5 X o= iiiieessssnnesennnnnes 4 ﬁj\
5 3) 6
L, 5 43
2
22. fii: 2(x+1)=7-(x-4)
20x+t2=T—x+4 e, 2 4y
2x+x=T+4-2
3x=0 4 5
X=3 e 557
o3, g, 11 SxX+2_,
2 6
Ax-D=(B5x+2)=6 2 4y
3x-3-5x-2=6
3x—5%x=6+3+2
2x=11 e 4 4y
x=—E ....................... 5%y
2
24. fR: (1) (2) (3) HEWT: (E: (1) 248 (2) 148 (3) 149
D C
a7 P 3
4 B
/

EO i, 44y
(4) 2931 e, 5 4y
e RIS N N £
25. A, SER NIRRT C n

fild: ""OEHZ AB F— 15,
S ZAOC + /BOC =180° .
A O B



" /AOC=50° ,
s. Z/BOC=130° .
" OE V4 «BOC (.51,

1 N
4(:015=E /BOC (2R ESND) e, 15
s ZCOE = 65 OO U OUUROo 2 4y
' /ZCOD= 90° , ZDOE=/ COD -/ COE 5  oeeeeeeeseee 39
<. Z/DOE = 25 e 44y (2)
/DOE =% /AOC (8% /AOC= 2/DOE) oo 5%
26. fi#t: 4Ba’ —ab’)—3(4a’ —2ab’)
=12a% —4ab® —12a*+6ab> e, 257
=2ab® e, 39y
‘_iﬁ a :_1 ’ b: ZHﬂ‘,
R =2x(=1)x2> 4 4y
=2x8==16 5 4
27. ff: 0 B CRLBABHIH A (BHD,
1 N
AC=BC=EAB (B HP E R E S .
. AB=10,
SCBC=5. e, 14y
2 5 S M Es
(1) 5 D 7E 4 B At 1 C D B
** BC=5, BD=3,
..CD =BC- BD.
o.- CD:5_3:2. ....................... 3 ﬁj\
(2) 245 D 7E 5 B A it
1 A C B
" BC=5, BD=3,

.. CD=BC+BD.



~.CD =5+3=8

SCD=2EHE CD=8 e 55
28. fift: WK A KREE x gk, NIIEE CRE (10—x) 7K. s 14y
ARG, 15 300x+240X (10—x) =280X8+100X4 ....cvvcvrrrreaneee. 3%
B x=4 44y
10—x= 6
e NFWEARE 45K, WL CKE6K. 0 5%
29.ff: (1D © 15 14
@ -4 28 8 44y
() OHPa=28, WEH3-(-6+20|=2, Wfhi=se=>,
ﬁ’ﬁélt—% M. PB=T, PBCPA, SPBILERABI “ANIEH” jj%
AN EE.
Fﬁblt—% ....................... 545

@Y PB=2Mf, FH|(2-1)-(-6+21)=2, %ﬁ’%ﬁ%ﬁfct:z, MmMYe=2
B, PA=1, PB>PA, 1 PEIZE AB ] “4XFHEE” 1, ARG,

Fﬁut=1?0. ....................... 6 4>
- s . 1_. 10



